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1. JEEFEFHINA
28 - A2SINA 120,600,000 0 0 15,000,000 A 15,000,000
A £ % 1,400,000 - - - -
TaEL% 107,100,000 - - 15,000,000 A 15,000,000
EIE RS 2,300,000 - - - -
TAT 4 HILAE 5,600,000 - - - -
B4R BE SN 5> 4,200,000 - - -
5%131)\ 30,957,000 28,280,000 167,200,000
SR RTELINA 3,800,000 - - -
H PDX%%%HW\ 440,000 - - - -
REE - EMAEZZIA 20,945,000 - - - -
#$Et I F—BEIA - - - - -
DEREMHEZBRUNA 3,172,000 - - - -
PFOE IV A 2,600,000 - - - -
LR MY —BZINA - - - - -
CVIT-TVEZIT A - 28,280,000 - - -
ERPHESINA - - - - -
A REEITA - - 167,200,000 -
REH D DBRALINA 0 18,000,000 — _ A 18,000,000
LHDNLDRAS - 18,000,000 = = A 18,000,000
SHEAN D DAL - - - - 0
x f & 0 0 0 0 0
¥ X A 300,000 0 0 0 0
EEXTHINAAS (A) 151,857,000 46,280,000 - 182,200,000 A 33,000,000
2. BEEHLH
= % B 44,951,960 46,690,000 0 167,980,000
SRHEE 12.000,000 - - - -
FEREMESEEE - - - - -
tEARRELE - - - 166,280,000 -
XEAT (NN EB IS - - - 1,700,000 -
FBEEREEE 5,480,000 - - - -
REE - SMEEXE 16,778,560 - - - -
$E IS —BXER - - - - -
AERKEMHEETLE 2,084,300 - - - -
PFOE%%E 995,100 - - - -
LR —B%E 7,614,000 - - - -
CVIT-TVE=%% - 30,690,000 - - -
HP{E L & - 2,500,000 - - -
S RT LEE - 13,500,000 - - -
T W § 83,840,000 0 13,062,000
2 % B - - - 6,400,000 -
BEREE 1,200,000 - - - -
B OE B 2,600,000 - - 527,000 -
MRl #E 550,000 - - 455,000 -
EBEAE 6,600,000 - - 2,346,000 -
% 4 B 910,000 - - - -
=EREERE 65,480,000 - - 3,334,000 -
M OB B 3,500,000 - - - -
= N B 3,000,000 - - - -
AHADBHETH 33,000,000 0 A 33,000,000
_&Ku-l_/\a)%gﬁm% - - - -
—FﬁT%nxd’“@%"xHﬂ% - - - - -
CVIT-TVAS~DigH4 18,000,000 - - - A 18,000,000
TEHAHADBHS 15,000,000 - - - A 15,000,000
3 BB 0 370,000 0 0 0
EXTHIHAST (B) 161,791,960 47,060,000 0 181,042,000 A 33,000,000
=ETHINREZH (C)=(A)-(B) A9,934,960 0 0 1,158,000 —
I BEZFFHNIZDE
BB EEUNA DES
KEMBTIEESTURIA — — — — —
EHIBURINA 10,000,000 — — — _
BREZHRAEST (D) 10,000,000 0 0 0 0
BB EE X H DB
EHESBAZE — — — — —
EEgER/ATH — — — — —
| BREFEFHTHEE (E) 0 0 0 0 0
BEFHNZE=8)=(D)-(E) 10,000,000 0 0 0 0
YHANTERE (G)=(C)+(F) 65,040 0 0 1,158,000 0
RN =R (H) 66,240,615 0 0 239,877,435 0
WERHMINTERE(|)=(G)+(H) 66,305,655 0 0 241,035,435 0
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